Homework #7                               


     Genetics:  Mendel’s Punnett Squares 
Copy questions or prompts and answer all in your green dot journal.   Due block day! 
1.a.  Circle the  dominant allele in each of the following gene pairs:  AA   cc  Dd  Tt
    b.  Circle the recessive allele in each of the following pairs:  Rr  dd   PP   Bb
    c.  List the homozygous dominant gene pairs:  GG    Hh    tt    TT
    d.  List the homozygous recessive gene pairs:   JJ     Gg   Tt    cc
    e.  List the heterozygous gene pairs:   EE   Aa   Rr   ss
2.  In sheep, white colored wool (W) is dominant to black wool (w).  List the color of wool each of the following gene pairs will make:  

Genotype 


Phenotype

ww



_________

Ww



_________

WW



_________

Info for 3, 4 & 5:  In humans, brown eyes (B) is dominant to blue eyes (b).  Solve the following problems using Punnett squares to find out what gene pairs and what color eyes are expected.  For each problem below: write the cross, complete the Punnett square, list the number and % of expected genotypes and phenotypes.








              B
B
3.  BB x bb









· Draw the Punnett square




    b

· List the number and %  of each expected genotype

· List the number and % of each expected phenotype

    b
4.  Bb X bb

· Draw the Punnett square

· List the number and %  of each expected genotype

· List the number and % of each expected phenotype

 5.  Bb x Bb

· Draw the Punnett square

· List the number and %  of each expected genotype

· List the number and % of each expected phenotype
6.   Answer the following with one of these four genetic crosses:  bb x bb,  Bb x Bb,  BB x bb,  Bb x bb

A.  A genetic cross results in 50% recessive offspring.  Which is the correct cross?  


B.  A genetic cross results in 100% recessive offspring.  Which is the correct cross?


C.  A genetic cross results in 0% recessive offspring.  Which is the correct cross?


D.  A genetic cross results in 25% recessive offspring.  Which is the correct cross?

7.   Punnett squares give only the most likely (expected) results of a genetic cross.  Use your knowledge of the 
       expected percent recessive to answer the following.  Brown eyes are dominant.

a.  Parents have 5 children: 5 blue, 0 brown.  What are the parent genotypes?  Phenotypes? 


b.  Parents have 5 children: 3 blue, 2 brown.  What are the parent genotypes?  Phenotypes?


c.  Parents have 6 children: 1 blue, 5 brown.  What are the parent genotypes?  Phenotypes?

